www.senestechnology.com

Zero-back Drive

Robo Series

The Future of New Generation Robot
Industrial Robot Series

SeneS Technology Co., Ltd.

o



SENES
ROBO
SERIES

New generation robot
The future of high technology

Product Overview

- Robo 003 - 3kg payload
- Robo 005 - 5kg payload
- Robo 010 - 10kg payload
- Robo 015 - 15kg payload

T
j LoD
7] i
: =11l il
160°

MODEL ROBO 003

Max Payload(Kg) 3
Arm rotation (JT 1) +170
Arm out-in (JT 2) -80 ~ +135
Motion Range Arm up-down (JT 3) +118 ~ -170
0 Wrist swivel JT 4) + 270
Wrist band (JT 5) +145
Wrist twist (JT 6) +360
Arm rotation (JT 1) 160
Arm out-in (JT 2) 160
Max Speed Arm up-down (JT 3) 170
(/) Wrist swivel (T 4) 340
Wrist band (JT 5) 340
Wrist twist (JT 6) 450
Wrist swivel (JT 4) 7.2
Moment q
(N.M) Wrist band (JT 5) 7.2
Wrist twist (JT 6) 5.2
Wrist swivel (JT 4) 0.3
Moment of Inertia .
(Kg.M?) Wrist band (JT 5) 0.3
Wrist twist (JT 6) 0.3
Moment of Inertia(Kg.M?) 0.05
Max Reach(mm) 540
Max Speed(mm/s) 3,100
Mass 26
Body Color Ivory/Dark Navy
Installation Floor
Environmental Temperature(°C) 0~40
. . 35~85 (No dew nor
(o)
Condition Humidity(%) ot o] o)
Power Requirement(KVA) 1.5
Degree of Protection Wit 17 I?’g 4Base axis
Machine Controller SNSO003Series
145,5 298,5 110,5

215

100,

875
255

1100
660

305

225

150 570




SENES
ROBO
SERIES

New generation robot
The future of high technology

——

Product Overview

- Robo 003 - 3kg payload
- Robo 005 - 5kg payload
- Robo 010 - 10kg payload
- Robo 015 - 15kg payload

MODEL ROBO 005
Max Payload(Kg) 5
Arm rotation (JT 1) +170
Arm out-in (JT 2) -80 ~ +135
Motion Range Arm up-down (JT 3) +118 ~ -170
) Wrist swivel (T 4) +270
Wrist band (JT 5) +145
Wrist twist (JT 6) +360
Arm rotation (JT 1) 160
Arm out-in (JT 2) 160
Max Speed Arm up-down (JT 3) 170
(/s) Wrist swivel (JT 4) 340
Wrist band (JT 5) 340
Wrist twist (JT 6) 450
Wrist swivel (JT 4) 12.3
Moment g
(N.M) Wrist band (JT 5) 12.3
Wrist twist (JT 6) 7
Wrist swivel (JT 4) 0.4
Moment of Inertia .
(Kg.M?) Wrist band (JT 5) 0.4
Wrist twist (JT 6) 0.12
Moment of Inertia(Kg.M?) 0.05
Max Reach(mm) 980
Max Speed(mm/s) 3,100
Mass 37
Body Color Ivory/Dark Navy
Installation Floor
Environmental Temperature(°C) 0~40
Condition Humidity(%) 5565 [Nlo €l mer

frost allowed)

Power Requirement(KVA) 1.5
Degree of Protection BT 1P 60 B ande
IP54
Machine Controller SNSO005Series
655 980
699
210.. 380 65

1080
420

317

315

210




SENES
ROBO
SERIES

New generation robot
The future of high technology

Product Overview

- Robo 003 - 3kg payload
- Robo 005 - 5kg payload
- Robo 010 - 10kg payload
- Robo 015 - 15kg payload

——

MODEL ROBO 010

1159

Max Payload(Kg) 10
Arm rotation (JT 1) +170
Arm out-in (JT 2) -90 ~ +145
Motion Range Arm up-down (JT 3) +150 ~ -163
) Wrist swivel (JT 4) + 270
Wrist band (JT 5) + 145
Wrist twist (JT 6) + 360
Arm rotation (JT 1) 120
Arm out-in (JT 2) 120
Max Speed Arm up-down (JT 3) 215
(/s) Wrist swivel (JT 4) 365
Wrist band (JT 5) 380
Wrist twist (JT 6) 480
Wrist swivel (JT 4) 13
Moment :
(N.M) Wrist band (JT 5) 13
Wrist twist (JT 6) 7.5
Wrist swivel (JT 4) 0.45
Moment of Inertia .
(Kg.M?) Wrist band (JT 5) 0.45
Wrist twist (JT 6) 0.14
Moment of Inertia(Kg.M?) 0.1
Max Reach(mm) 1,450
Max Speed(mm/s) 4,100
Mass 110
Body Color Ivory/Dark Navy
Installation Floor
Environmental Temperature(°C) 0~40
- . 35~85 (No dew nor
O,
Condition Humidity(%) Toteallomed)
Power Requirement(KVA) 2
Degree of Protection BTEE P (2D BE5e o
IP54
Machine Controller SNSO10Series
180 700
|-
a2
B L] 2
=13 a
[N
1100 1460
2560




Max Payload(Kg) 15

Arm rotation (JT 1) +170

RO B O Arm out-in (JT 2) -90 ~ +155

Motion Range Arm up-down (JT 3) +150 ~ -163

s E RI E s €) Wrist swivel (T 4) 4270
Wrist band (JT 5) +145

Wrist twist (JT 6) +360
Arm rotation (JT 1) 120
: Arm out-in (JT 2) 120
New generation robot
; X A -d JT 3 215
The future of high technology , Max Speed o Bp-eion U 2
(/s Wrist swivel (JT 4) 365
Wrist band (JT 5) 380
Wrist twist (JT 6) 480
Wrist swivel (JT 4) 13
Moment .
(N.M) Wrist band (JT 5) 13
Wrist twist (JT 6) 7.5
Wrist swivel (JT 4) 0.45
Moment of Inertia .
(Kg.M?) Wrist band (JT 5) 0.45
Wrist twist (JT 6) 0.14
Moment of Inertia(Kg.M?) 0.2
Max Reach(mm) 1,745
Max Speed(mm/s) 4,600
Mass 175
Body Color Ivory/Dark Navy
Product Overview Installation Floor
Environmental Temperature(°C) 0~40
- Robo 003 - 3kg payload Condition Humidity(%) 35~85 (No dew nor
frost allowed)
- Robo 005 - 5kg payload Power Requirement(KVA) 3
- Robo 010 - 10kg payload Degree of Protection UiSEl Igcs)4Base axis
- Robo 015 - 15kg payload Machine Controller SNSO15Series

940
800

1900

1400 1760




ZERO
BACK
DRIVE

High Power & Extreme Precision

Product Overview

- CSA(G)Component Type
- CSA(G) Unit Type

- CSD Type

- SHA(G) Component Type
- SHA(G) Unit Type

Metal's elastic dynamics applied Zero Back Drive.
Consists of just 3 of parts as Wave generator, Flex spline & Circular Spline
=5 =1 BHY Iot2 280 M= E2t0|E= Y02 HUH0[H, A AR 210 MEY AF201, 3719 7|2 252= 4 EU.

12 oo

Flex Spline CS Alg|=9| Ex Feature of CS Series
A A —-ZUE  AESHCXIQ —Compact and Simple design
Circular Spline -1EQ3 22 -High Torque
—TZA —High Stiffness
Q45 YX| ZHEC S|P -Excellence Positioning and Accuracies
—Ol=3 =0| =4 —Coaxial Input and Output
-SE2 44|
~2gst

Wave Generator

Structure of CSA component type
JCSAZILHE EfRlo] ;1 X

SZB-CSA-XX-XXX-2UH =& =



—%—

ZERO BACK .
DRIVE g4/

SZB - CSA - 25 - 100 - 2A - Ak1/SP1

M= =202
/Zero Back Drive

7|2%/Model name | &tH/Model No =% H|/Reduction ratio Z4/Model S5/ Special
Specification

14 50 80 100 - -
17 50 80 100 120 -
20 50 80 100 120 160
: 25 50 80 100 120 160  2A: Component Non Record: Standard
2UH : Unit
32 50 80 100 120 160
40 50 80 100 120 160
45 50 80 100 120 160
14 50 - 100 - -
17 50 = 100 - =
20 50 - 100 - 160
CSD 2A : Component  Non Record: Standard
25 50 - 100 - 160
32 50 - 100 - 160
40 50 - 100 - 160

Z1/Reduce ration: Input=wave generation, Fix=circular spline, output=flex spline

o



—%—

ZERO BACK  yoonentTyos

EDrawing

%

DRIVE ¢

SZB-CSA-XX-XXX-2A




——

ZERO BACK ComponentType
DRIVE A2

DAhG 50 60 70 85 110 135 155
CSAG 2904 33 44 34 44 37 05 44 g5 53 06 5905
B
CSA 29 0. 333, 34° 37 ° 442 53.7, 59._7,
C1 18*9¢ 2073° 2279 24736 2870° 3438 38%°
C2 11 125 12 13 16 19 205
2 25 3 3 3 4 4
6 6.5 75 10 14 17 19
CSAG 185 20.7 215 216 236 29.7 305
: CSA 17.6 195 20.1 202 22 275 27.9
?lh6 38 48 54 67 20 110 124
J 23 27.2 32 40 52 64 72
DOKH6 11 10 16 20 26 32 36
. CSAG 8 16 16 16 16 16 16
CSA 6 12 12 12 12 12 12
M 35 34 35 45 5.5 6.6 9
Nf M3 M3 M3 M4 M5 M6 M6
Q(PCD) 44 54 62 75 100 120 140
R 6 6 8 8 8 8 8
@S 45 5.5 55 6.6 9 11 135
T1(PCD) 17 19 24 30 40 50 54
ov BZH7) 6 8 9 1 14 14 19
ES(WPAES 8 10 13 15 15 20 20
W - - 3 4 5 5 6
X - - 107 13 1770 16 227
a 38 45 53 66 86 106 119
b 17.1 19 205 3 2638 33 365
c 1 1 15 15 15 22 2
f M3*4 M3*6 - - - - -
Weight(Kg) 0.09 0.15 0.28 042 042 1.7 2.3



—%—

ZERO BACK Component Type
DRIVE HZUZ 4I0]|Efmion

—CSA Component Type

71S/8XINC 7IS/8XNS | B 2ot ETO| o «7t 518 ZH ET 518 21| A8 7| Y
HMZ E3 Nm HZ E3 Nm 512X Nm Nm U= 31| Tt 2H| ZHE
Model /Reduction /Rated torque at | /Permissible peak | /Permissible max | /Instantaneous |&Er/min[&&Er/min| /Inertia

input 2000r/min | torque at start/stop| value of ave. load | permissible max | /Permissiie | Femisse | moment
rotational /1 OOOKng

torque torque speaymar) | _spesamin
kgfm ~ Nm  kgfm J21A2% J2AR%
50 5 047 15 2 6 1 30 3
14 80 7.8 0.8 23 24 1 11 47 48 8500 3500 0045
100 78 08 28 29 1 11 54 55
50 16 16 34 35 26 26 70 7.1
80 22 22 43 44 27 2.7 87 89
V. q0 24 24 B 55 39 4 108 11 7300 3500 00%8
120 24 24 54 55 39 4 86 8.8
50 25 25 56 5.7 34 35 98 10
80 34 35 74 75 47 48 127 13
20 100 40 4.1 82 8.4 49 5 191 20 6500 3500 0241
120 40 4.1 82 84 49 5 191 20
160 40 4.1 2 94 49 5 147 15
50 39 4 98 10 55 56 186 19

80 63 6.4 137 14 87 8.9 255 26
25 100 67 6.8 157 16 108 1 284 29 5600 3500 0516

120 67 6.8 157 16 108 1" 284 29
160 67 6.8 176 18 108 " 314 32
50 76 708 216 22 108 1 382 39
80 118 12 304 Sil 167 17 568 58

32 100 137 14 333 34 216 22 647 66 4800 3,500 2.02
120 137 14 353 36 216 22 686 70
160 137 14 372 38 216 22 686 70
50 137 14 402 41 196 20 686 70
80 206 21 &) 53 284 ) 980 100

40 100 265 27 568 58 372 38 1080 110 4,000 3,000 5.62
120 294 30 617 63 451 46 1180 120
160 294 30 647 66 451 46 1180 120
50 176 18 500 51 265 27 950 97

80 i 32 706 72 390 40 1270 130

45 100 353 36 755 77 500 51 1570 160 3800 3000 10.85
120 402 41 823 84 620 63 1760 180
160 402 41 882 920 630 64 1910 195



ZERO BACK
DRIVE

—CSAG Component Type

TR I N
HHEJ Nm
Model / Reduction /Rated torque at

input 2000r/min

50 6 061 196 2
14 80 85 08 255 26
10 85 087 306 312
50 18 [ 18 | 3w | 38
80 25 25 48 49
17 10 26 27 60 6.1
120 26 27 60 6
50 28 29 6 63
80 37 38 8 83
20 100 44 45 9 93
120 4 45 9% 98
160 44 45 9% 98
50 43 44 108 11
80 70 71 151 154
2% 10 74 75 173 177
120 74 75 184 188
160 74 75 195 199
50 84 9 229 24
80 130 13 3% 34
322 100 151 15 368 38
120 151 15 300 40
160 151 15 41 42
50 151 15 a5 45

80 228 23 574 59
40 100 203 30 627 64
120 325 33 682 70
160 825 33 715 73
50 195 20 553 56
80 346 35 780 80
45 100 390 40 835 85
120 445 45 910 93
160 445 45 975 9

—%—

Component Type
E.IIE- LI ;E-I E" O I E1 Technical Data

o ot 39| 2|t &2t SI8 2 B3 [SI2 21 SIS &1 | Y

U oM | Gt 2| RHE

o1€X| Nm Nm
/Instantaneous  [&=r/min|&Er/min| /Inertia
/Permissible Permissible moment

ermissible max - :
' Totonel | “ostond  |1/1000Kgm?
speed(r/min) | speed(r/min)

J2ARE J2ARE

7.7 08 39.1 4
11.9 1.2 493 9 8500 3500 0.045
11.9 1.2 493 5
29 29 77 04
30 3 96 9.8
43 44 122 124 7300 3500  0.098
43 44 122 124
37 4 108 1"
52 5 140 14
54 6 162 17 6,500 3500 0.241
54 6 162 17
54 6 162 17
61 6 206 21
96 10 282 288

119 12 314 32 5600 3500 0516
119 12 336 343

119 12 347 354

119 12 422 43

184 19 627 64

239 24 715 7 4800 3,500 2.02

239 24 158 77

239 24 158 77

217 22 158 77

314 32 1080 110

an 42 1190 121 4,000 3,000 5.62

498 51 1301 133

498 51 1301 133

293 30 1050 107

431 44 1403 143

553 56 1735 144 3,800
684 70 1945 198

696 71 2111 215

3,000 10.85



——

ZERO BACK  its
DRIVE &5

SZB-CSA-XX-XXX-2UH

e+




——

ZERO BACK Unit Type
DRIVE A&

40
OA 73 79 70 85 110 135 155
B a1, 45 9, 455 9 52 ¢ 620, 7252, 7952,
34 37 38 46 57 66.5 74
o o 74 82 755 6% 5% 6% 553
CSA 7 s 8 % 755 65 57, 6 7, 557,
E 27 29 28 36 45 50.5 58
F 7 8 10 10 12 16 16
G 2 2 3 3 3 4 4
H 35 4 5 5 5 5 6
CSAG 05 05 05 05 1 15 1
. CSA 05 1.1 1.1 1.1 1.2 1.6 16
CSAG 185 20.7 215 216 236 29.7 305
N CSA 17.6 195 20.1 20.2 22 275 279
@0 h7 56 63 72 86 113 127 148
CSAG 56 62 70 85 112 123 147
e CSA 55 62 70 85 112 123 147
?20Q 425 495 58 73 96 109 127
S 8 7 10 15 20 24 25
@T h7 38 48 56 67 90 110 124
@U H7 6 8 12 14 14 14 19
Vv - - 138" 16.3"' 16.3"Y 16.3"Y' 21.8*%
W Js9 - - 4 5 5 5 6
OX 23 27 32 42 55 68 82
Y 6 6 8 8 8 8 8
Z M4X8 M5X10 M6X9 M8X12 M10X15 M12X18 M14X21
a 1 1 15 15 15 2 2
b 65 71 82 96 125 144 164
. CSAG 8 8 8 10 12 10 12
CSA 6 6 6 8 12 8 12
@d 45 45 55 55 6.6 9 9
CSAG 8 8 8 10 12 10 12
F CSA 6 6 6 8 12 8 12
g M4 M4 M5 M5 M6 M8 M8
Qy 14 18 21 26 26 32 32
Weight(kg) 0.52 0.68 0.98 15 32 5 7



——

ZERO BACK Unit Type
DRIVE H3UZ H0]E e ome

—CSA Unit Type

SRS ININE] 71S/8RINS  [He £5t EFC Ao =7t 518 ZI ET (S8 0 |oi8 =11| &Y
M2 E3 Nm M2 EJ Nm 512X| Nm Nm Y oM | Bt 2| HUE
Model /Reduction /Rated torque at | /Permissible peak | /Permissible max | /Instantaneous |[&Er/min|{&Er/min| /Inertia

input 2000r/min | torque at start/stop | value of ave. load | permissible max | /femisshe | Pernetie | moment

torque torque Al | el ke
Nm kgfm Nm kgfm kgfm J2ARE J2ARE

50 5 047 15 2 6 1 30 3

14 80 78 08 23 24 1 1.1 47 48 8500 3500 0045
10 78 08 28 29 11 11 54 55
50 16 16 34 35 26 26 70 7.1
80 22 22 43 4.4 27 27 87 89

7 q0 24 24 s 55 3 4 108 11 7s00 3500 00%8
120 24 24 54 55 39 4 86 88
50 25 25 56 57 34 35 98 10
80 34 35 74 75 47 48 127 13

20 100 40 4.1 82 84 49 5 191 20 6500 3500 0241
120 40 4.1 82 84 49 5 191 20
160 40 4.1 o) 94 49 5 147 15
50 39 4 98 10 55 56 186 19
80 63 64 137 14 87 89 256 26

25 100 67 6.8 157 16 108 11 284 29 5600 3500 0516
120 67 68 157 16 108 11 284 29
160 67 68 176 18 108 11 314 R
50 76 708 216 22 108 1 382 39
80 118 12 304 3 167 17 568 58

32 100 137 14 333 34 216 22 647 66 480 3500 202

120 137 14 353 36 216 22 686 70
160 137 14 372 38 216 22 686 70
50 137 14 402 41 196 20 686 70
80 206 21 il 53 284 29 930 100
40 100 265 27 568 58 372 38 1080 110 4,000 3,000 5.62
120 294 30 617 63 451 46 1180 120
160 294 30 647 66 451 46 1180 120
50 176 18 500 51 265 27 950 97
80 313 32 706 72 390 40 1270 130

45 100 885 36 755 77 500 51 1570 160 3800 3,000 10.85
120 402 41 823 84 620 63 1760 180
160 402 41 882 0] 630 64 1910 195



——

ZERO BACK Unit Type
DRIVE H3UZ H0]E e ome

—CSAG Unit Type
7|1&/8XINE 71S/8RAS (M 25t EF2 Z|CY 2 Z Si2 2|1 (518 =1 | 24
X7 £5 Nm X7 £5 Nm 122 Nm Nm ol 5ix | T 3% | DEE
Mo e (et | Pemstios | i | s |30 a5
torque torque | Sl | e |/1000Ke
Nm kgfm Nm kgfm Ja|ARE TJ2|ARE
50 6 061 196 2 77 08 391 4
14 80 85 087 265 26 119 12 493 5 8500 3500 0045
10 85 087 306 312 119 12 493 5
50 18 18 37 38 29 29 77 79
80 25 25 48 49 30 3 % 98
V00 26 | 27 60 | 61 B3 44 122 124 1800 3500 00%
120 26 27 60 61 3 44 12 124
50 8 29 6 63 37 4 108 11
80 37 38 & 83 B2 5 140 14
20 100 4 45 9 93 54 6 162 17 6500 3500 0241
120 44 45 9% 98 54 5 162 17
160 44 45 9% 98 54 6 62 17
50 43 44 108 11 61 6 206 21
80 70 71 151 154 9 10 282 288

25 100 74 75 173 17.7 119 12 314 32 5600 3500 0516
120 74 75 184 18.8 119 12 336 343
160 74 75 195 19.9 119 12 347 354

50 84 g 239 24 119 12 422 43
80 130 13 336 34 184 19 627 64
32 100 151 15 368 38 239 24 715 7 4800 3,500 2.02
120 151 15 390 40 239 24 158 77
160 151 15 411 42 239 24 158 77
50 151 15 445 45 217 22 158 77

80 228 23 574 59 314 32 1080 110
40 100 293 30 627 64 411 42 1190 121 4000 3,000 5.62
120 325 33 682 70 498 51 1301 133
160 325 33 715 73 498 51 1301 133
50 195 20 553 56 293 30 1050 107
80 346 35 780 80 431 44 1403 143
45 100 390 40 835 85 553 56 1735 144 3800 3000 10.85
120 445 45 910 93 684 70 1945 198
160 445 45 975 99 696 71 2111 215



——

ZERO BACK  (spcomponent Type
DRIVE 28%oum

SZB-CSD-XX-XXX-2A




ZERO BACK  cspComponertType

—p—

DRIVE #Zomes

mm
34
14 17 20 25 32 40

OARh7
OBH7
C

T & m m O

@K H6

T Z < —

2Q
DR
@S
0T
U
oV
a
b
©

Weight(kg)

50 —0.(())25

1 1 +0.(())18

11
6.5
1.4
45
0.3
4 3
23
117"
6
3.4
M3

44
17
M3
17
9
3.4
38
6.5
1
0.06

60 20

1 5 +0.(())18

12.5
757
1.7

5
0.3
5 01

27.2

117000

8
3.4

M3

54
21
M3
2.8

4.5
45

7.5

0.1

70 60
20"
14
8 %’
2
6
0.3
5.2 01
32
167"
12
3.4
M3
6.5
62
26
M3
24
9
45
53
8
1.5
0.13

85 %
2470
17

10 %’

2

7
0.4
6.3 01
40
20°%"°
12
3.4
M3
6.5
75

30
M3
30

9

5.5
66

10
1.5
0.24

110.0%
32 0
22

13 %
2.5

9

0.5 *¢?
8.6 <
52

30 9°
12
45
M4

8
100

40
M4
41
11
6.6
86
13
2
0.51

135500
40 %
27

16 0
3

11

0.6 %
10.3 0
64

32 0910
12
5.5
M5

e
120
50
M5
48
10
e
106
16
2.5
0.92



——

ZERO BACK s ComponentTips
DRIVE H3LUZ HI0|Efwmmos

A TR I N 71S/8XINQ  [Hd 85 EFQ| A|o| =7t 518 £ EF | 518 (12
ZHEH| | m7i 23 Nm N7 EJ Nm 512X Nm Nm 4 o)™
Reduction | /Rated torque at | /Permissible peak | /Permissible max | /Instantaneous |&&r/min
e UF.‘,'[IOI’] : ) . /Permissible Permissible moment
Ratio input 2000r/min | torque at start/stop | value of ave. load | permissible max | "o | avermgs oot .
torque torque | ek, | 2, (/10000
Nm kgfm Nm kgfm J2ARY 2 ARE
” 50 3.15 0.32 10.2 1 4 0.42 20.4 2 8500 3500 0.045
100 45 0.47 16.2 1.6 6.5 0.67 26.4 2.7 ’ ' '
50 9.4 0.94 19.6 2 15.3 1.6 40.8 4.2
17 7,300 3,500 0.098

100 136 14 315 3.2 23 24 468 4.8
50 14.5 15 33.2 3.4 20.4 2 58.7 6

20 100 23.8 2.5 48.5 4.9 28.9 3 64.6 66 6500 3500 0.241
160 238 2.5 54.4 5.5 28.9 6 64.6 6.6

50 23 2.4 58.7 6 32.3 3.3 108 1"
25 100 40 4.1 93.56 9.4 63.8 6.5 129.2 128 5600 3,500 0.516

160 40 4.1 104.6 1 63.8 6.5 129.2 128
50 45 4.6 1284  12.8 63.8 6.5 224.4 23

32 100 81.6 8.5 198 204 1284 128 3052 315 4800 3,500 2.02
160 81.6 8.5 221.9 23 1284 128 3062 315
50 81.6 8.5 2389 247 1165 12 408 417

40 100 15673 162 3383 349 221 23 590 604 4000 3,000 5.62
160 175.1 17.9 385 89 268.6  27.2 590 60.4



——

ZERO BACK (sSsries
DRIVE H3UZ Hl0IE s

— Backlash Arc min
50 2 2 2 2 2 2 2
80 2 2 2 2 2 2 2
100 2 2 2 2 2 2 2
120 - = 2 2 2 2 2
160 - - - 2 2 2 2

— Start Torque cNm

50 41 6.3 8.2 15 325 57.5 78.7
80 3 4.1 5.1 9.6 18.7 36.2 51
100 2.6 3.6 4.6 7.5 18.7 325 45
120 = = 4.1 7.8 16.2 30 41.2
160 - - - 6.8 15 26.2 36.2
- Increase Start Torque Nm

50 1.8 3.3 5.2 9.9 20 36 52
80 1.8 3.3 5.3 10 21 36 53
100 2 3.6 5.6 11 22 40 56
120 - - 6.1 12 24 43 61
160 - - - 14 29 51 70



ZERO
BACK
DRIVE

High Power & Extreme Precision

Product Overview

- CSA(G)Component Type
- CSA(G) Unit Type

- CSD Type

- SHA(G) Component Type
- SHA(G) Unit Type

Metal's elastic dynamics applied Zero Back Drive.
Consists of just 3 of parts as Wave generator, Flex spline & Circular Spline
F&e 271 HY dots 8% M= E210|E= Q0|12 MU0, S3A ASEQ 2|10 MBS AZ22, 3749 7|2 822 g ELU ot

O T2 oo

Circular Spline SH A|Z|=9| EX Feature of SH Series

Wave Generator
-HUWE, HEot DXl -Compact and Simple Design
-1EQT g8 —-High Torque
—T17EM —Hi i

Cross Roller bearing J—of ~ B High Stiffness o .

-t fIX| 2EEL} TP ~Excellence Positioning and Accuracies
-UEYH R0| S5Y ~Coaxial Input and Output

Wave Generator _myo Ftay

=i O™

-ast

Output Flange

Structure of SHA Unit type
/SHARLIE Efio] 71X

o @@= 00000

SZB-SHA-XX-XXX-2UH =&

o



—%—

ZEROBACK .
DRIVE g&l/7|&

SZB - SHA - 25 - 100 - 2A - A{21/SP1

H=2e E2t0|2
/Zero Back Drive

715%/Model name | &t/Model No £H|/Reduction ratio G4/ Model S5A/Specal
Specification

14 50 80 100 = -

17 50 80 100 120 -

20 50 80 100 120 160

SSHHAAG 25 50 80 100 120 160  2A:Component Non Record: Standard
2UH : Unit

32 50 80 100 120 160

40 50 80 100 120 160

45 50 80 100 120 160

Z1/Reduce ration: Input=wave generation, Fix=circular spline, output=flex spline



——

ZERO BACK  componentType
DRIVE 28T

SZB-SHA-XX-XXX-2A

_NIUWQ

JHI




——

ZERO BACK ComponentType
DRIVE A&

2°
85 110

DA NG 50 60 70 135 155
SHAG 285 g, 325 9, 335 9, 37 & 44 8, 53 2 585,
° SHA 285 O, Wme 9 335 ¢ &y 44 0 58 0 5859,
C1 175 % 20 *%° Zilih 24 06 28 900 34798 38 08
C2 11 12.5 12 13 16 19 205
E 2 2.5 3 3 3 4 4
6 6.5 7.5 10 14 17 19
SHAG 185 20.7 215 216 236 29.7 305
SHA 176 195 20.1 202 22 275 27.9
@l hé 60 72 82 104 134 164 190
?J h6é 48 60 70 88 114 140 158
DK h6 38 48 54 67 90 110 124
L 8 12 12 12 12 12 18
oM 35 34 35 45 55 6.6 6.6
N M3 M3 M3 M4 M5 M6 M8
0P - - 35 45 55 6.6 9
?2Q a4 54 62 75 100 120 140
. SHAG 8 16 16 16 16 16 16
SHA 6 12 12 12 12 12 12
@S 35 35 35 45 55 6.6 9
om b4 66 76 96 124 152 180
U 14 18 21 26 26 32 32
W BZEH7) 6 8 9 11 14 14 19
E[CHX |4 8 10 13 15 15 20 20
W Js9 - - 3 4 5 5 6
X - - 10475 1287 16.6 "% 16373 2187Y
Da 38 45 53 66 86 106 119
c 1 1 15 15 15 2 2
@d 31 38 45 56 73 90 101
e 17 2.1 2 2 2 2 2.3
Weight(kg) 0.11 0.18 0.31 048 0.97 1.87



—%—

ZERO BACK Component Type
DRIVE H3IUZ H0|E o

—SHA Component Type

71S/8XINC TSI IS =t 518 A BT |18 A1 |oi8 &1 | 2y
M2 EH Nm ¥4 EF Nm GIEX Nm old 3| (A M| ZHE
Model /Reduction /Rated torque at | /Permissible peak | /Permissible max | /Instantaneous [&&Er/min

g i o issi Permissibl
input 2000r/min | torque at start/stop | value of ave. load | permissible max | /Permissiie | Pemissbe | moment

torque | iy |1
kgfm Nm kgfm kgfm J2ARE J2|ARE

50 5 047 15 2 6 1 30 3

14 80 7.8 08 23 24 1 1.1 47 48 8500 3500 0045
00 78 08 28 29 1 11 54 55
50 16 16 34 35 26 26 70 7.1
80 22 22 43 4.4 27 27 87 89

V' 10 24 24 s 55 3 4 108 11 7800 3500 00%
120 24 24 54 55 39 4 86 88
50 25 25 56 57 34 35 98 10
80 34 35 74 75 47 48 127 13

20 100 40 4.1 82 84 49 5 191 20 6500 3500 0241
120 40 4.1 82 84 49 5 191 20
160 40 4.1 o) 94 49 5 147 15
50 39 4 98 10 55 56 186 19

80 63 6.4 137 14 87 8.9 255 26
25 100 67 6.8 157 16 108 1 284 29 5600 3500 0516

120 67 6.8 157 16 108 1 284 29
160 67 6.8 176 18 108 1" 314 32
50 76 708 216 22 108 1 382 39
80 118 12 304 Sil 167 17 568 58

82 100 137 14 333 34 216 22 647 66 4800 3,500 2.02
120 137 14 353 36 216 22 686 70
160 137 14 372 38 216 22 636 70
50 137 14 402 41 196 20 686 70
80 206 21 519 53 284 i) 980 100

40 100 265 27 568 58 372 38 1080 110 4000 3,000 5.62
120 294 30 617 63 451 46 1180 120
160 294 30 647 66 451 46 1180 120
50 176 18 500 51 265 27 950 97

80 Bi[8 & 706 72 390 40 1270 130

45 100 353 36 755 77 500 51 1570 160 3,800 3000 10.85
120 402 41 823 84 620 63 1760 180
160 402 41 882 90 630 64 1910 195



—%—

ZERO BACK Component Type
DRIVE H3IUZ H0|E o

—SHAG Component Type
A TR ININ ] IS8R B 25 ETQ | &7t 518 X ET |51 £ (o1 21| &d
HHAEINm | HAEINm 518%/ N Nm of2 ol Bz aix | mRIE
Model|/reduction| /Rated torqueat | /Permissible peak | /Permissible max | - /Instantaneous  |&=r/min|&=r/r
input 2000r/min | torque at start/stop | value of ave. load | permissible max | /fermissie | Permsene | moment
torque torque Jmnl | ) e
kgfm Nm kgfm J2ARE J2ARE

50 6 0.61 19.6 2 7.7 0.8 39.1 4

14 80 85 0.87 255 2.6 11.9 1.2 493 5 8500 3500 0.045
100 85 0.87 30.6 3.12 11.9 1.2 493 5
50 18 1.8 37 3.8 29 29 77 79
80 25 25 48 49 30 3 96 9.8

7 40 26 27 e 61 43 44 122 124 500 3500 008
120 26 2.7 60 6.1 43 44 122 124
50 28 29 62 6.3 37 4 108 1
80 37 3.8 82 8.3 52 B 140 14

20 100 44 45 91 9.3 b4 6 162 17 6,500 3,500 0.241
120 44 45 96 9.8 54 6 162 17
160 44 45 96 9.8 54 6 162 17
50 43 44 108 11 61 6 206 21
80 70 7.1 151 15.4 96 10 282 28.8

25 100 74 75 173 17.7 119 12 314 32 5600 3500 0516
120 74 75 184 18.8 119 12 336 343
160 74 75 195 19.9 119 12 347 354

50 84 9 239 24 119 12 422 43
80 130 13 336 34 184 19 627 64
32 100 151 15 368 38 283 24 715 7 4800 3,500 2.02
120 151 15 390 40 239 24 158 77
160 151 15 411 42 239 24 158 77
50 151 15 445 45 217 22 158 77

80 228 23 574 59 314 32 1080 110
40 100 293 30 627 64 411 42 1190 121 4000 3,000 5.62
120 325 33 682 70 498 51 1301 133
160 325 88 715 73 498 51 1301 133
50 195 20 553 56 293 30 1050 107
80 346 35 780 80 431 44 1403 143
45 100 390 40 835 85 553 56 1735 144 3800 3000 10.85
120 445 45 910 93 684 70 1945 198
160 445 45 975 9 696 71 2111 215



——

ZERO BACK itType
DRIVE 28T

SZB-SHA-XX-XXX-2UH




——

ZERO BACK Unit Type
DRIVE A&

mm

B
70 80 90 11

QA7 142 170
OB 54 64 75 90 115 140
QC h7 36 45 50 60 85 100
@D h7 74 84 95 115 147 175
QE h7 20 25 30 38 45 59
OF h7 14 19 21 29 36 46
G 52.5 56.5 51.5 55.5 65.5 79
H 12 12 5 6 7 8
| 205 23 25 26 32 38
J 20 215 215 235 26.5 33
L 9 10 10.5 10.5 12 14
M 8.5 9 8.5 9.5 13
N 75 8.5 7 6 5 7
QP 2.5 2.5 25.5 33.5 40.5 52
Q 3 3 6 6 6 6
R M3 M3 M3X6 M3X6 M4X8 M4X8
S 64 74 84 102 132 158
T 8 12 12 12 12 12
QU 3.5 3.5 35 45 5.5 6.6
oV 44 54 62 77 10 122
W — 11251 8 20SHIE 16 16 16 16
M3X5 M3X6 M3X6 M4X7 M5X8 M6X10
. @3.5X11.5  ©@35X12  ©3.5X135 Q45X155 @55X205  06.5X25
Weight(kg) 0.71 1 1.38 2.1 4.5 7.7

o



——

ZERO BACK Unit Type
DRIVE H3UZ H0]E e ome

—SHA Unit Type

TSI IS 71S/8RINS B 2ot ETO| Z[TH| &7t 518 2 BT |18 A1 |GI8 11| 2
HAEINm | HZEINm 512X Nm Nm ol2 six | Wz 56 | PHE
Model /Reduction /Rated torque at | /Permissible peak | /Permissible max | /Instantaneous |&Zr/min|&Er/min| /inertia

input 2000r/min | torque at start/stop | value of ave. load | permissible max 4 fﬁ;:‘{jﬂe as::a"é'jsi'nt;'zt moment 2
rotational |1/1 000Kgm

torque torque socethar) | speedbimin
kgfm Nm kgfm mIEiEs = IS
50 5 0.47 15 2 6 1 30 3
14 80 78 08 23 24 11 1.1 47 48 8500 3500 0.045
100 78 08 28 29 11 1.1 54 55
50 16 16 34 35 26 26 70 7.
80 22 22 43 44 27 27 87 8.9
V' 100 24 24 s 55 3 4 108 11 7800 3500 00%
120 24 24 54 55 39 4 86 838
50 25 25 56 5.7 34 35 98 10
80 34 35 74 75 47 48 127 13
20 100 40 4.1 82 8.4 49 5 191 20 6500 3500 0241
120 40 4.1 82 8.4 49 5 191 20
160 40 4.1 92 94 49 5 147 15
50 39 4 98 10 55 56 186 19
80 63 6.4 137 14 87 89 255 26
25 100 67 6.8 157 16 108 1 284 29 5600 3500 0516
120 67 6.8 157 16 108 11 284 29
160 67 6.8 176 18 108 11 314 32
50 76 708 216 22 108 11 382 39
80 118 12 304 31 167 17 568 58

32 100 137 14 333 34 216 22 647 66 4800 3,500 2.02
120 137 14 353 36 216 22 686 70
160 137 14 372 38 216 22 636 70
50 137 14 402 41 196 20 686 70
80 206 21 Sl 53 284 29 980 100

40 100 265 27 568 58 372 38 1080 110 4,000 3,000 5.62
120 294 30 617 63 451 46 1180 120
160 294 30 647 66 451 46 1180 120
50 176 18 500 51 265 27 950 97

80 313 32 706 72 390 40 1270 130

45 100 353 36 755 77 500 51 1570 160 3800 3000 10.85
120 402 41 823 84 620 63 1760 180
160 402 41 882 90 630 64 1910 5



——

ZERO BACK Unit Type
DRIVE H3UZ H0]E e ome

—SHAG Unit Type

71S/-8XINC| J1S/™¥RNQ  |HT Hot EFO| Z|0i| #7t 518 A EF |51 A1 |5& 1| &
X7 E3 Nm HZ E3 Nm 512%| Nm Nm o2 3IM | Tt SIM | DHIE
Model /Reduction /Rated torque at | /Permissible peak | /Permissible max | /Instantaneous |&%r/min|&Er/min| /Inertia

input 2000r/min | torque at start/stop | value of ave. load | permissible max | /femissiie | Permsee | moment

torque torque el | ) [
kgfm Nm kgfm J2ARY I2ARY

50 6 061 196 2 77 08 391 4

14 80 85 08 255 26 119 12 493 5 8500 3500 0045
10 85 087 306 312 119 12 493 5
50 18 18 37 38 2 29 7 79
80 25 25 48 49 30 5 % 98

V. 10 2% 27 e 61 83 44 12 124 7S00 3500 0098
120 26 27 60 61 43 44 12 124
50 22 29 62 63 | 37 4 108 11
80 37 38 8 83 B 5 140 14

20 100 44 45 9 93 54 6 162 17 6500 3500 0241
120 4 45 9% 98 54 6 182 17
160 4 45 9% 98 54 6 182 17
50 43 44 108 1 61 6 206 21
80 70 71 151 154 96 10 282 288

25 100 74 75 173 17.7 119 12 314 32 5600 3500 0516
120 74 75 184 18.8 119 12 336 34.3
160 74 75 195 19.9 119 12 347 354

50 84 9 239 24 119 12 422 43
80 130 13 336 34 184 19 627 64
32 100 151 15 368 38 239 24 715 7 4800 3,500 2.02
120 151 15 390 40 239 24 158 77
160 151 15 411 42 239 24 158 77
50 151 15 445 45 217 22 158 77

80 228 23 574 3 314 32 1080 110
40 100 283 30 627 64 411 42 1190 121 4,000 3,000 5.62
120 325 33 682 70 498 51 1301 133
160 325 38 715 73 498 51 1301 133
50 195 20 553 56 293 30 1050 107
80 346 35 780 80 431 44 1403 143
45 100 390 40 835 85 553 56 1735 144 3800 3000 10.85
120 445 45 910 93 684 70 1945 198
160 445 45 975 9 696 71 2111 215



——

ZERO BACK ¢
DRIVE H3UZ 0| o

— Backlash Arc min
50 2 2 2 2 2 2 2
80 2 2 2 2 2 2 2
100 2 2 2 2 2 2 2
120 - = 2 2 2 2 2
160 - - - 2 2 2 2

— Start Torque Nm

50 9 27 36 b6 85 136 165
80 8 25 33 50 74 117 138
100 2.7 24 32 49 72 112 131
120 = = 31 48 68 110 126
160 - = - 47 67 105 122
- Increase Start Torque Nm

80 7.2 24 31 48 70 112 133
100 8.2 29 38 o9 86 134 158
120 = = 45 69 97 158 182
160 = - - 90 128 201 233



CSA-mini Type

CSA-mini Type2 Z|A dHE ALESIH
RLESISH HEQILICY,

-4 - 3y
______
-1E38Y

-1

S ELTLE
-4 ARIANYES SHYE

TT e
RIESENEEN

AGV Wheel

~HFXIE @130
—4&H| 2001




www.senestechnology.com

Head Office & Factory

106, lyeo-ro 341beon-gil, Baeksa—myeon, Icheon-si,
Gyeonggi-do, Republic of Korea

Phone : +82 31 632 0172 / 0176

Fax. : +82 31 632 0761

=N/ B

ZI1Z OIFAl BHALH 01012341212 106 (HAHR)
&3t 031-632-0172 / 0176

WA 1 031-632-0761

SeneS Technology Co., Ltd.

o



